leading edge technocrat

Cam Clutch /
Cam Follower
Free wheel clutch




techne

® Standard sprag cam dutch construction ® Indexing application

A,

__ Bearing
.--"'"--
~— __— Cams
=5 Spring e
s lnner race
,Outer race

Indexing
Other sub Parts ! Plate, Snap ring, Oll seal, Plug and Seal washer
All Cam Clutches consist very few parts and have simple construction.
® For General Application
A
B A — Specify right
F D (RH) or left
hand (LH) drive
A viewed from this
K .;.. \ end, inner race
-, driving
| .;ff i Ab\ ‘
- | /‘\
U - | LU
= \_/
&\ '
Dimensions and Capacities Dimensions in mm
Max.
Max. | Overuming | Max. —(StockBoreSize QuerRace | [Luricaton
Model | Torque | (min) | indexing A e |C 0| E|F|c]| Kemay “:g] Fillr Plug
) | er | Outer | cylelnin)| Dl | Key- ) ¢ 0| lsexpich
Race | Race (7) | way
PB3 204 | 1,800 900 | 150 10 | 4x15 50 |50 [ 23 | 22|25 | 2 |267 4x25 (16| 023 | M6xP10
PB§ 47 11,800 900 | 150 16 | 5x20| 70 | 60 (32 | 32 | 35 | 25 [388| 5x30 (20| 0358 [ MGxP10
PB § 32 [1500] 800 | 150 | 20 | Sx20| 82 | 73 | 36 | 3 | 37 | 3 |40 Sx30 21| 11 | M6xP1.0
PB Y 66 1 1200( 650 | 150 | 25 | 7Tx30) 85 | B3 (45 | 40 | 45 | 33 |420| Tx40 | 27| 16 | M6xP10
PE10 | 1104 | 1000 400 | 150 5 (10x35| 90 | 95 | 57 | 45 | 55 | 37 [420(10x45 (28| 25 | M6xP10
PB12 | 1800 | 800 300 | 150 | 40 |10x35|100 [ 143 [ 65 | 50 | 60 | 37 |535|10x45 | 29| 36 | M6xP10
PB4 | 2410 | 700 300 | 150 | 45 |12x35| 12 (133 [ 75 | 54 | 76 | 41 |57.3|12x45 )30 60 | M6xP1D




techne

L\ FLlF i | i

A
A - -
f—1 ) —W F_ 1} !
| R{ W\ \\L i
A
C
= Z = - - w|o|m
= = w| o)
x\\ N L
ST |
' ] L
H-M
A H-M

i
|

[ 3
. C .
= & wo|m
\:iéggg\}\\ R
H .
5 L
—--.S.--— H-M
Torque Tsubaki Width bolt size &
Model N.m Torgue Rating A OoD-B C PCD -D No
RS- 30 350 294 64 90 64 80 MBEX1.0-4
RS- 50 2505 784 67 125 67 110 MEX1.25-4
MI0 X 1.5-
RS - B5 3267 1570 S0 160 &5 140 6
MIOX 1.5-
RS-75 3969 2450 50 170 85 150 b
M12 X 1.75
RS - 85 7150 SEE0 115 210 110 185 -b
M14 X 2.0-
RS -95 8500 7R40 115 230 110 200 B
M16 X 2.0 -
R5-110 10800 10800 115 270 110 220 b
M16 X 2.0 -
RS -135 15700 15700 135 320 130 280 b




techno

[ : A )
i : = A
/ T
\_| 5__F ,»
PSRN -
<L
_ mis [u]
% 5 L
Y
- C —
- D -
Torque Mounting
Model N.m Max bore | key way 0D-A PCD-B c WIDTH -D Holes
4.76 x
SF 300 210 19| 2.38 76.2 66.7 60.3 63.5 | 1/4"
4.76 x
SF 400 413 22.2| 2.38 88.9 73 66.7 69.9 | 5/16"
6.33x
SF 500 1172 33.2 )| 2.38 107.95 92.1 85.7 889 | 5/16"
12.7 x
SF 600 2070 50.8| 4.76 136.53 120.7 92.9 95.3 | 5/16"
158 x
SF 700 5517 7481 3.16 180.92 158.8 123.8 127 | 3/8"
19.5x
SF 750 9379 87.3| 4.76 222.22 177.8 145.2 1524 | 1/2"
254 x
SF 800 15862 112.7 | 6.35 253.98 227 1459.2 152.4 | 1/2¥
254x
SF 900 22758 138.1| 6.35 304.76 | 247.65 158.7 161.9 | 5/8"
31.75x
SF 1000 29655 163.5 | 9.53 380.96 | 298.45 171.4 177.8 | 5/8"

leading edge technacrat

204/205-Tower-A, Vraj Venu Complex, Samta Gotri Road,
Gotri, Vadodara — 39002 1. Gujarat, INDIA.

& 1t91-265-6503797, . +91-9824734703

< gmpatel(@leading-edge.in




